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a 

The diagram shows  ABC with sides  

AB = 6 cm, BC = 4 cm and AC = 8 cm.  

(i)  Show that cos A = 
8

7
. 

(ii) By finding the exact value of  

 sin A, determine the exact value 

 of the area of  ABC. 
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(i)         cos A = 
682

468 222




 

  = 
96

84
 

  = 
8

7
 

 (ii)  

Draw a triangle with cos A = 
8

7
: 

 

 

Using Pythagoras’ theorem, and letting unknown side 

be x: 

                x2  = 82 – 72 

  = 15 

                  x = 15   (x > 0) 

sin A  = 
8

15
 

  Now, area of  ABC = 
2

1
bc sin A 

   = 
2

1
 × 8 × 6 × 

8

15
 

   = 3 15  

the area is 3 15  cm2. 

 

     

* These solutions have been provided by projectmaths and are not supplied or endorsed by BOSTES. 
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